

## City of San Diego PURCHASE ORDER

PO No. 4500103057

Date: 08/06/2018 Page 1 of 5

Ship To:

POLICE-FACILITIES MANAGEMENT & DEV 1401 BROADWAY San Diego CA 92101-5710 Bill To:

POLICE-FISCAL 1401 BROADWAY, MS715 SAN DIEGO CA 92101-5710 **Billing Contact:**Gerardo Edgar Sison

Telephone:

E-Mail:GSISON@PD.SANDIEGO.GOV

Vendor: Singh Group Inc.

1308 Descanso Ave. San Marcos CA 92069 Terms:

within 30 days Due net

**Delivery Terms:** FOB Destination

**Buyer:** TanyaRadomyshelsky

**Telephone:** 619-235-5855

Vendor ID: 10034534 Telephone:760-450-0534 E-Mail: isaura@sgiwebsite.com

**E-Mail:** TRadomyshels@sandiego.gov

			2	Tradomyonolo	Joanarog	o.gov
Line#	Item ID/Description Serv # Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc UoM Conv Factor	Exten	ded Price
1	LANDSCAPING SERVICE - CENTRAL	06/30/2019	12 MON	680.63 MON	USD	8,167.56
	City of San Diego Police Dept./Facilities Management Unit					
	As needed landscaping services for the period 7/1/2018 - 6 Update insurance as required	5/30/2019				
	Agreement 4600002320					
	Analyst: Rita Castillo (619) 525-8450 MS 715					
	PO number to be on all invoices.					
	***To ensure prompt payments please mail invoices within days from delivery of items or completed service.	five business				
	Invoice should be mailed to:					
	San Diego Police Department ATTN: Accounts Payable 1401 Broadway, MS-715 San Diego, CA 92101					
***	Item partially delivered					
2	LANDSCAPING SERVICE - EASTERN	06/30/2019	12 MON	785.89 MON	USD	9,430.68
***	LANDSCAPING SERVICE - EASTERN Item partially delivered					
3	LANDSCAPING SERVICE - TRAFFIC	06/30/2019	12 MON	730.80 MON	USD	8,769.60
***	LANDSCAPING SERVICE - TRAFFIC Item partially delivered					
4	LANDSCAPING SERVICE - NORTHEASTERN	06/30/2019	12 MON	668.67 MON	USD	8,024.04
	LANDSCAPING SERVICE - NORTHEASTERN					
The Terr	ns and Conditions of this Purchase Order are available	at http://www.sandiego.gov	/purchasing/vendor	SEE LA	ST P	AGE
To ensu	IMPORTANT!  Ire prompt payments, PO # must appear on all st to Billing Contact person at Bill-To address listed		Il invoices must be	FOR	ΤΟΤ	AL
directed	to <i>Billing</i> Contact person at <i>Bill-To</i> address listed	dabove				



### City of San Diego PURCHASE ORDER

PO No. 4500103057

**Date:** 08/06/2018

Page 2 of 5

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended	l Price
***	Item partially delivered					
5	LANDSCAPING SERVICE - NORTHERN	06/30/2019	12 MON	668.67 MON	USD	8,024.04
***	LANDSCAPING SERVICE - NORTHERN Item partially delivered					
6	LANDSCAPING SERVICE - SOUTHEASTERN	06/30/2019	12 MON	529.75 MON	USD	6,357.00
***	LANDSCAPING SERVICE - SOUTHEASTERN Item partially delivered					
7	LANDSCAPING SERVICE - SOUTHERN	06/30/2019	12 MON	532.16 MON	USD	6,385.92
***	LANDSCAPING SERVICE - SOUTHERN Item partially delivered					
8	LANDSCAPING SERVICE - WESTERN	06/30/2019	12 MON	663.87 MON	USD	7,966.44
***	LANDSCAPING SERVICE - WESTERN Item partially delivered					
9	LANDSCAPING SERVICE - HEADQUARTERS	06/30/2019	12 MON	967.89 MON	USD 1	11,614.68
***	LANDSCAPING SERVICE - HEADQUARTERS Item partially delivered					
10	LANDSCAPING SERVICE - RANGE	06/30/2019	12 MON	608.10 MON	USD	7,297.20
***	Item partially delivered					
11	LANDSCAPING SERVICE - NORTHWESTERN	06/30/2019	12 MON	477.07 MON	USD	5,724.84
***	Item partially delivered					
12	LANDSCAPING SERVICE - CANINE	06/30/2019	12 MON	711.77 MON	USD	8,541.24
***	Item partially delivered					
13	LANDSCAPING SERVICE - COMM RM	06/30/2019	12 MON	410.02 MON	USD	4,920.24
***	Item partially delivered					
14	LANDSCAPING SERVICE - FEDERAL PARKWAY	06/30/2019	12 MON	737.99 MON	USD	8,855.88
***	Item partially delivered					
The Term	ns and Conditions of this Purchase Order are available a	t http://www.sandiego.go	v/purchasing/vendor	SFFIA	ST P	\GF
IMPORTANT!				SEE LAST PAGE FOR TOTAL		
To ensure	IMPORTANT!  o ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be irected to Billing Contact person at Bill-To address listed above					



# City of San Diego PURCHASE ORDER

PO No. | 4500103057

**FOR TOTAL** 

Date: 08/06/2018

Page 3 of 5

Line#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Or	d UoM	Unit Price/F		Exter	ided Price
15	LANDSCAPING SERVICE - STAR PAL	06/30/2019	12	MON	426.78	MON	USD	5,121.36
***	Item partially delivered							
16	LANDSCAPING SERVICE - AIR SUPPORT	06/30/2019	12	MON	155.66	MON	USD	1,867.92
***	Item partially delivered							
17	LANDSCAPING SERVICE - EXTRA LABOR	06/30/2019	150	EA	1.00	EA	USD	150.00
Notes:	WAGE REQUIREMENTS: PURCHASE ORDERS EXECUTED (	ON OR AFTER JANUAI	RY 1, 2015.					
		the he hall comply the section ance by wage platively intenance 1,000, the ing helow. Wage 1,22.4245. The characteristic sections and its sections and its sections and its period of the characteristic sections and the characteristic sections are sections as the characteristic	ov/purchasing/ve	endor				
The Term	ns and Conditions of this Purchase Order are available at ht	tp://www.sandiego.g	ov/purchasing/ve	endor	SEE	E LA	ST	PAGE

IMPORTANT!

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to *Billing* Contact person at *Bill-To* address listed above

Rev 04 - 16



#### City of San Diego **PURCHASE ORDER**

PO No. 4500103057

Date: 08/06/2018

Page 4 of 5

Line#	Item ID/Description	Del.Date	Quantity/Ord UoM		Extended Price
	Serv# Service Description additional expiration dates with additional predetermined wage rate	95		Conv Factor	
	which expiration dates occur during the life of this Contract, each	56,			
	successive predetermined wage rate shall apply to this Contract or	n the			
	date following the expiration date of the previous wage rate. If the				
	last of such predetermined wage rates expires during the life of this	S			
	Contract, such wage rate shall apply to the balance of the Contract	t.			
	Penalties for Violations. Contractor and its subcontractors shall				
	comply with California Labor Code section 1775 in the event a wor				
	paid less than the prevailing wage rate for the work or craft in whic	h			
	the worker is employed. This shall be in addition to any other	064			
	<ul> <li>applicable penalties allowed under Labor Code sections 1720 – 18</li> <li>3. Payroll Records. Contractor and its subcontractors shall comply</li> </ul>				
	California Labor Code section 1776, which generally requires keep				
	accurate payroll records, verifying and certifying payroll records, a	-			
	making them available for inspection. Contractor shall require its				
	subcontractors to also comply with section 1776. Contractor and its	S			
	subcontractors shall submit weekly certified payroll records online	via			
	the City's web-based Labor Compliance Program. Contractor is re-	•			
	for ensuring its subcontractors submit certified payroll records to the	ne			
	City. Contractor and their subcontractor(s) shall also furnish the				
	records specified in Labor Code section 1776 directly to the Labor Commissioner in the manner required in Labor Code section 1771	1			
	Apprentices. Contractor and its subcontractors shall comply with				
	California Labor Code sections 1777.5, 1777.6 and 1777.7 concert				
	employment and wages of apprentices. Contractor shall be held	ge			
	responsible for the compliance of their subcontractors with section	S			
	1777.5, 1777.6 and 1777.7.				
	5. Working Hours. Contractor and subcontractors shall comply wit	:h			
	California Labor Code sections 1810 through 1815, including but n	ot			
	limited to: (i) restrict working hours on public works contracts to				
	eight hours a day and forty hours a week, unless all hours worked				
	excess of 8 hours per day are compensated at not less than 1½ tir				
	basic rate of pay; and (ii) specify penalties to be imposed on desig				
	professionals and subcontractors of \$25 per worker per day for ear	· ·			
	the worker works more than 8 hours per day and 40 hours per week violation of California Labor Code sections1810 through 1815.	ek III			
	Required Provisions for Subcontracts. Contractor shall include:	at a			
	minimum a copy of the following provisions in any contract they en				
	into with a subcontractor: California Labor Code sections 1771, 17				
	1775, 1776, 1777.5, 1810, 1813, 1815, 1860 and 1861.				
	7. Labor Code Section 1861 Certification. Contractor in accordance	ce with			
	California Labor Code section 3700 is required to secure the paym	nent of			
	compensation of its employees and by signing this Contract, Contr	ractor			
	certifies that "I am aware of the provisions of Section 3700 of the				
	California Labor Code which require every employer to be insured	-			
	liability for workers' compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with				
	provisions before commencing the performance of the work of this				
	Contract."				
	Labor Compliance Program. The City has its own Labor Compliance	iance			
	Program authorized in August 2011 by the DIR. The City will withh				
	contract payments when payroll records are delinquent or deemed				
	inadequate by the City or other governmental entity, or it has been	ı			
	established after an investigation by the City or other governmenta				
	entity that underpayment(s) have occurred. For questions or assist				
	please contact the City of San Diego's Equal Opportunity Contract	ing			
	Department at 619-236-6000.	nvoicet			
	Contractor and Subcontractor Registration Requirements. This     is subject to compliance menitoring and enforcement by the DIP.				
	is subject to compliance monitoring and enforcement by the DIR. A	4			
The Term	ns and Conditions of this Purchase Order are available at http	://www.sandiego.ç	gov/purchasing/vendor	SEFIA	ST PAGE
IMPORTANT!					
	INTORIANT!			FOR	TOTAL
1-					

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to *Billing* Contact person at *Bill-To* address listed above



### City of San Diego PURCHASE ORDER

PO No. 4500103057

**Date:** 08/06/2018

Page 5 of 5

ine#		Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom	Extended Price
	Serv# Service Description contractor or subcontractor shall not be qualified to bid on, be listed			Conv Factor	
	in a bid proposal, subject to the requirements of Section 4104 of the				
	Public Contract Code, or engage in the performance of any contract for				
	public work, as defined in this chapter of the Labor Code unless				
	currently registered and qualified to perform the work pursuant to				
	Section 1725.5. In accordance with Labor Code section 1771.1.(a), "[i]t				
	is not a violation of this section for an unregistered contractor to				
	submit a bid that is authorized by Section 7029.1 of the Business and				
	Professions Code or by Section 10164 or 2103.5 of the Public Contract				
	Code, provided the contractor is registered to perform public work				
	pursuant to Section 1725.5 at the time the contract is awarded."				
	9.1 A Contractor's inadvertent error in listing a subcontractor who				
	is not registered pursuant to Labor Code section 1725.5 in a response to				
	a solicitation shall not be grounds for filing a bid protest or grounds				
	for considering the bid non-responsive provided that any of the				
	following apply: (1) the subcontractor is registered prior to bid				
	opening; (2) within twenty-four hours after the bid opening, the				
	subcontractor is registered and has paid the penalty registration fee				
	specified in Labor Code section 1725.5; or (3) the subcontractor is				
	replaced by another registered contractor pursuant to Public Contract				
	Code section 4107.				
	9.2 A contract entered into with any contractor or subcontractor in				
	violation of Labor Code section 1771.1(a) shall be subject to				
	cancellation, provided that a contract for public work shall not be				
	unlawful, void, or voidable solely due to the failure of the awarding				
	body, contractor, or any subcontractor to comply with the requirements				
	of section 1725.5 of this section.				
	9.3 By performing services detailed in this purchase order, Contractor				
	is certifying that he or she has verified that all subcontractors used				
	on this public works project are registered with the DIR in compliance				
	with Labor Code sections 1771.1 and 1725.5, and Contractor shall provide	ie			
	proof of registration to the City upon request.				
	B. Living Wages. This Contract is subject to the City's Living Wage	<b>-</b>			
	Ordinance (LWO), codified at SDMC sections 22.4201 through 22.4245.				
	LWO requires payment of minimum hourly wage rates and other benefits	i			
	unless an exemption applies. SDMC section 22.4225 requires each				
	Contractor to fill out and file a living wage certification with the				
	City Manager within thirty (30) days of Award of the Contract. LWO wage				
	and health benefit rates are adjusted annually in accordance with SDMC				
	section 22.4220(b) to reflect the Consumer Price Index. Service				
	contracts, financial assistance agreements, and City facilities	- d			
	agreements must include this upward adjustment of wage rates to cover	eu			
	employees on July 1 of each year. In addition, Contractor agrees to				
	require all of its subcontractors, sublessees, and concessionaires	•			
	subject to the LWO to comply with the LWO and all applicable regulation	S			
	and rules.  1. Examption from Living Wago Ordinance. Purculant to SDMC section.				
	<ol> <li>Exemption from Living Wage Ordinance. Pursuant to SDMC section 22.4215, this Contract may be exempt from the LWO. For a determination</li> </ol>	an.			
	on this exemption, Contractor must complete the Living Wage Ordinance				
	Application for Exemption.				
	C. Highest Wage Rate Applies. Contractor is required to pay the highest				
	C. Highest Wage Rate Applies. Contractor is required to pay the highest applicable wage rate where more than one wage rate applies.				
	applicable wage rate where more than one wage rate applies.				
Term	s and Conditions of this Purchase Order are available at http://ww	w sandiego g	ov/nurchasing/vendor		
, i Citi	is and Sommitted of this furthase Order are available at http://ww		or, paronaoning, vendol	Line Item Total \$	117,218
	IMPORTANT!			Tax \$	0.
	IIVIF ON I AINT:			· Ψ	0.